llghtm and Power

T echnologies LLZC
POLE BRACKET e For mounting one fixture on an existing pole

CODE: 90140-RBC5

4" Square Pole Mount with 2-3/8" O.D. Tenon

NO. WSD-VTS4-D

Finish: Dark Bronze

MAX EPA: 0.3

USE: For use with square, non-tapered steel and aluminum
poles. Furnished with four 5/16" hex head stainless-steel
bolts. Vertical tenon measures 2-3/8" O.D., and is made of
steel tubing. Fixtures mounted to this bracket can be
adjusted both vertically and horizontally.

=S

82.36"

3" Round Pole Mount with 2-3/8" O.D. Tenon

NO. WSD-VT3-D

Finish: Dark Bronze

MAXEPA: 0.3

USE:For use with Round, non-tapered steel and aluminum poles.
Furnished with three 3/8" hex head stainless-steel bolts.
Vertical tenon measures 2-3/8" O.D., and is made of steel tubing.
Fixtures mounted to this bracket can be adjusted both vertically
and horizontally.

5" Square Pole Mount with 2-3/8" O.D. Tenon

NO. WSD-VTS5-D

Finish: Dark Bronze

MAXEPA: 0.3

USE: For use with square, non-tapered steel and aluminum
poles. Furnished with four 5/16" hex head stainless-steel
bolts. Vertical tenon measures 2-3/8" O.D., and is made of
steel tubing. Fixtures mounted to this bracket can be
adjusted both vertically and horizontally.

4" Round Pole Mount with 2-3/8" O.D. Tenon

NO. WSD-VT4-D

Finish: Dark Bronze

MAXEPA: 0.3

USE:For use with Round, non-tapered steel and aluminum poles.
Furnished with three 3/8" hex head stainless-steel bolts. Vertical
tenon measures 2-3/8" O.D., and is made of steel tubing. Fixtures
mounted to this bracket can be adjusted both vertically and
horizontally.

J68°LL

¢52 I w:

¢5.5‘I

5" Round Pole Mount with 2-3/8" O.D. Tenon

NO. WSD-VT5-D

Finish: Dark Bronze

MAXEPA: 0.3

USE:For use with Round, non-tapered steel and aluminum poles.
Furnished with three 3/8" hex head stainless-steel bolts. Vertical
tenon measures 2-3/8" O.D., and is made of steel tubing. Fixtures
mounted to this bracket can be adjusted both vertically and
horizontally.

MOUNTING OPTIONS:

. 504" (128mm)
| %,

©2.91" (74mm)

(wwo9T) .£9

NO. WSD-NEWSBARM2-D

Finish: Dark Bronze

Arm Mount 4" and 5" Sguare and Round poles.
Standard versatile mounting arm is simple to
install and can be used with existing poles for
retro installations.

©0.51° (13mm)

165mm)

255" (65MM) 3117 (79mm)

NO. WSD-NEWSBSF2-D

Finish: Dark Branze

Slipfitter Mount An optional cast aluminum mast arm
adapter secures fixture head to nominal 2"(2-3/8"0.D.
pipe size) horizontal steel tenon arm.

NO. WSD-SBT-D

Finish: Dark Bronze

Easy to install for direct wall mounting with 1/2"
conduit wiring.

65mm)
5" (127mm)

031" (8mm)

NO. \WSD-SFARM2-D

Finish: Dark Bronze

SFARM2 Mount An optional cast aluminum mast arm
adapter secures fixture head to nominal 2"'(2-3/8"0.D.
pipe size) horizontal steel tenon arm.

Base Mounting Screw

NO. WSD-BMS-S

Finish: Silver

Before installing the lamp pole, the installation hook
should be buried underground and fixed by cement
After fixing, the lamp pole should be fixed by locking
screw and base installed.

?| Before installing the lamp pole, the installation hook

Base Mounting Screw
NO. WSD-BM205L800-S
Finish: Silver

should be buried underground and fixed by cement
After fixing, the lamp pole should be fixed by locking
screw and base installed.

473" (120mm)

Install Base Shield

NO.WSD-IBR4-D

Finish: Dark Branze

The 4" Installation of base shield is used to protect
the base after fixing the lamp pole, so that the lamp
pole base is not damaged, thereby increasing the
service life of the lamp pole.

473" (120mm)

Install Base Shield

NO.WSD-IBR5-D

Finish: Dark Branze

The 5" Installation of base shield is used to protect the
base after fixing the lamp pole, so that the lamp pole
base is not damaged, thereby increasing the service
life of the lamp pole.

473" (120mm)

Install Base Shield

NO.WSD-IBR6-D

Finish: Dark Branze

The 6" Installation of base shield is used to protect
the base after fixing the lamp pole, so that the lamp
pole base is not damaged, thereby increasing the
service life of the lamp pole.

9.25" (235mm)

689" (175mm)

9.25" (235mm)
689" (175mm)

Screw Positioning Plate

NO. WSD-SPP235

This is a screw rod positioning plate. After the screw rod of
the lamp rod base is fixed underground, the positioning
plate is fixed with the screw rod to prevent the screw rod
from deviation. Finally, the lamp rod is locked.

Arm Square tube turn tube Tenon Adaptor
NO. WSD-ARM-BAR-D

Finish: Dark Bronze
USE: square tube Ilght bar installation, with Arm
installation of lamps.

Arm Sguare tube turn tube Tenon Adaptor
NO. WSD-SADP-BAR-D

Finish: Dark Bronze
USE: square tube Ilght bar installation, with Arm
installation of lamps.




Lighting and Power

T echnolo

gies

ORDERING EXAMPLE:

LLC

10FT

a

116

Company Height Size  |Wall Thickness Finish Mounting
10FT (3.0M)
LPT 15FT (4.6M) 4 (UXdin) D
20FT(6.1M) 5 (5X5in.) 11 (11gauge) Dark Bronze  |2.5 inch adapter
25FT (7.6M)
30FT(9.1M)

Fixture Config

h

Single

urations:

"2 o wa

D90 DN90 D180

LR e

Light pole top:

Removable Cap

32.38"(60mm)ODX4"9101mm) LG

\ 0.24"(6mm)
< THKTENON

| _— MOUNT

TN120 N30 DRILL MOUNT OPTIONS | TENON MOUNT OPTIONS
Installation:
ANCHORAGE GUIDE
1.3 role in the installati 10,517 (2ATom ]
Dig a e in inztallation P
position of the lamp pole. Fix Z. 48" (180mn)
four fastener fittings according o L
to the hole position of lamp pole n " — Ly
and pour  with cement concrete. 3"XS"HAND E E Set Screws
| (22 shown in the figure) HOLE COVER @ =
. — o g |
Pole =l
o &
Waterproofgasket S| . .
- Sy
Hand hole cover
2.481ign the four boltz of the
lamp pole to the mourting hole e y
of the lamp pole. After fiwing D &
the lamp pole with a rut, ] ‘:I
inztall a protective cover at & N
. the lower end of the lamp pole. A
g {az ghown in the figure)
— | Flange base cover,
0.07" (1. 8om) THE
Foundation reference
specification —
Specifications L W H

10-15FT 19,69 (500mm} | 19.69" (500mm} | 23.62° (600mm}
20-28FT 23,627 (G00mm} | 23.627 (600mm) | 27.56" (700mm)
3O0FT 27.56% (T00mm? | 27.56" (T00mm) 27,567 { T00mm )

2.36"(60mm)

(4PCS)

www.lightingandpowertech.com

Lighting and Power Technologies
7101 Whisperfield Drive, Plano, TX 75024 Ph: 877-666-5267 Fax: 972-624-5800
sales@lightingandpowertech.com www.lightingandpowertech.com

ase cover






